
Test 2 

1.  Listen and choose the right answer.  

What means of transport has Mark decided to use? 

A) A car       B) Bicycle         C) Train 

2. Listen and complete the statements.  

A) The country Phillippe has just visited is_______. 

B) The language Phillippe doesn’t want to learn is________. 

 

3. Fill in the gaps using the words given in the table. 

a. What is the ____ of this country? 

b. North America is a ____ , isn’t it? 

c. My nephew can speak 5 _____ . He has visited many countries. 

d. Can you help me to ____ the work books? 

e. The young actress _____ a nice prize. 

continent                            capital                           foreign languages 

was awarded                     collect 
 

4. Use THE if necessary. 

a. ___ Italy 

b. ___ United Kingdom 

c. ___ Asia 

d. ___ Ural Mountains 

e. ___ Switzerland 

f. ___ Czech Republic 

g. ___ North Africa 

h. ___ Hungary 

i. ___ Los Angeles 

j. ___ Black Sea 

 

 

5.  Translate the sentences into Russian.  

 

a. They were given a lot of homework by the teacher. 

b. His new book will be published next year. 

c. Moscow is visited by millions of people every year. 

 

 



6. Write sentences as the model shows. Use: neither.. nor..   

Example: Ben can’t climb mountains. Ben can’t run.  

Ben can neither climb mountains nor run.  

 

a. Roy can’t play football. Roy can’t play chess.  

______________________________________________ 

b. Matt doesn’t want to walk in the park. Matt doesn’t want to stay at home.  

______________________________________________ 

c. Diana hasn’t got any brothers. Diana hasn’t got any sisters.  

______________________________________________ 

7.  Read the text. Mark the sentences below as T (true) or F (false). Correct 

the false sentences.  

 

Russian is one of the richest and most difficult languages in the world. It is 

the language of literature and the greatest poets and writers: Pushkin, Nekrasov, 

Tolstoy, Chekhov, Nabokov. It is rich in synonyms, antonyms, idioms, slang, 

archaisms and borrowings. According to Dahl’s dictionary the Russian language 

contains 200 000 words. 

People in the Russian Federation speak Russian. Its closest spoken relatives 

are Ukrainian and Belarusian. Modern Russian also includes a large number of 

international political, technological and scientific terms. 

Foreign students usually face a lot of difficulties while learning the Russian 

language because of its numerous suffixes and complicated punctuation rules. They 

are also really surprised with changing the word order in Russian sentences. 

Russian is the eighth most spoken language in the world. It is estimated that 

more than 200 million native speakers use it. Russian is one of the six official 

languages of the United Nations. Large Russian-speaking communities also exist in 

Israel, Germany, the USA, Turkey and other countries. 

 

a) Russian is one of the easiest languages in the world.  

b) There are about two hundred thousand words in the Russian language 

according to Dahl’s dictionary.  

c) It’s difficult for foreign students to learn Russian. 

d) Russian is the 6th most spoken language in the world.  

e) More than 200 million foreigners speak Russian.  

f) There are big Russian-speaking communities in Germany, the USA, 

Turkey, etc.  


